
Mighty CPS | CX-35 / 37



QTY.

1x2x

1x

9x

4x

18x

picture

position

position 5position 3

part name

CCO Addon_SPS 
Cart

Pulley Profile_CPS

CCO Upright Adj.
Pullej Cart

Pulley fi114

Side profile CPS

Pulley Bush fi25

position 1

position 7

position 2

position 8

SAMPLE

Assembly elements: 

1x

Cart SPS

position 4

4xposition 9

Rower Roller



9x

1x 16x

4x

52x

4x

26x

position 10

position 13 position 14

Bolt M10x100

Bolt M10x70 Bolt M10x30

Bolt M10x110

Washer M10

Bolt M10x120

Nut M10

position 11

position 15

position 12

position 16

Assembly elements: 

8x 18xposition 17

Bolt M12x110 Washer M12

position 18



2x2x8x position 21

Zaključek 
kabla - Uho

KroglicaNut M12

position 20position 19

Assembly elements: 



Assembly instruction:

14

13

13

10

8
7

8

3

17

14

16

22

16

4x Imbus zatiè M5x20

16

16

21

16

16

STEP: 1

STEP: 2



Assembly instruction:

17

16

23

12

11

11

STEP: 3

STEP: 4

217
16

16
15

217
16

16
15



Assembly instruction:

21

212

21

3

21

1313

21

1313

21 2
21

STEP: 5

STEP: 6

2

14
13

2

13

13

3

11

11

1



Assembly instruction:

STEP: 7

STEP: 8

tighten the bolttighten the bolttighten the bolttighten the bolttighten the bolttighten the bolt



Assembly instruction:

22

1x M10x60
2x M10 washer
1x M10 nut

23

STEP: 9

STEP: 10

3

21

21 2

21
21

13

11
11

21

21

21

21

2



Assembly instruction:

Cable Path

STEP: 11

STEP: 12

Cable

20

19

Cable

20

19


